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R Ty oA kO E o kA W one/l 0. 1UF < 0.01 < 0.01
¥ 7 v it = | meg/l 1LLF <0.1 <0.1
f % i it & ml mg/l 1LF 0.1 < 0.1
o Kk o x o & B me/l 0. 1LF < 0.01 < 0.01
N fill 4 o IN it & | meg/l 0. 5LF < 0.02 < 0.02
moEF Ok o x o i A& W wne/l 0. 1MF <0.01 <0.01
KR K V7 v F VKR Z Ol K RAE & 2| me/l 0. 005LF < 0.0005 < 0.0005
7oy X v ok ok & B me/l B Eh 2wk < 0.0005 < 0. 0005
rV O o v o7 o= = s mg/l 0. 003LLF < 0.0005 < 0. 0005
kY oy om o om o= F Ly mg/l 0. 3UTF < 0.001 < 0.001
F + % sz w o om = F L v m 0. 1UF < 0.001 < 0.001
v s = o A 4 o me/1 0. 2UF < 0.02 < 0.02
| iy 1t 74 # me/1 0. 02LF < 0.002 < 0.002
1 2 — v 7 m v = ¥ v m/l 0. 04LF < 0.004 < 0. 004
1 1 — Y 7 v o = F L v mgl 1F < 0.02 < 0.02
A -1, 2 -y ZuaxF L omgl 0. 4UF < 0.04 < 0.04
1 1, 1 — VU 2z ana=xx v ngl 3T < 0.001 < 0.001
1 1, 2 —+FU 27 8anarxx s ngl 0. 06LTF < 0.006 < 0. 006
1 3 — Y s v oo 7 oBr < o omg/l 0. 02UTF < 0.002 < 0.002
F v 7 Al mg/1 0. 06LTF 0.017 0. 006
D2 < v o me/1 0. 03LTF < 0.003 < 0.003
F EN ~ v il V2 7| mg/l 0. 2UTF < 0.02 < 0.02
~ v + o me/1 0. 1UTF < 0.01 < 0.01
vt v v kE W o { & W m/l 0. 1LUTF < 0.01 < 0.01
1 4 - v F o # v myl 0. 5UTF < 0.05 < 0.05
7 Es 7 — v | mg/1 5L F < 0.1 <o.1
kgl K [0} z D it & 4| mg/l 3LF <0.1 <o0.1
o k& O = o b A& W mg/l 2LF 0.07 0. 05
g kO 2 o b a (8w o) mg/1 10LLF <1.0 <10
v~ AR E oS (8 #RME) mg/1 10T <0.5 < 0.5
vy om n KOO 2 o b & | mg/l 20T < 0.1 <o.1
H o #F K O T o At A W mg/l 8LITF < 0.5 < 0.5
E 9 #F Kk Oz o kb A& Bl mg/l 10T < 0.10 < 0.10
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